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i BOOKLET @
GENERAL KNOWLEDGE AND CURRENT AFFAIRS

1. Total number of gold medals won by 4. Thecurrency of Belgium is .............
India in 17* Asian Games are ....... (1) Euro
3 {2} Yuan
17 % eshoir $ted® rusdio Reos 5% ® Yen |
DOMED BTG S50Pg revsensssass @ Pound .
(1) 10
@) 11 DOCH0 T 50D semrensnens c :
(1) chre
(3) 36 @) £ ‘
(4) 12 (3) &8 0
2. Dyanchand Award 2014 for hockey (4) Dol Q
Was given to ....c..euvenes 5. The aut ook, 'Playing it
(1) Gurpreeth Singh ﬁ
(2) Zeeshan Al avaskar
(3) K. P. Thakar é nder
(4) Gurmail Singh Sachin Tendulkar
(4) Ravi Shastry
5886° 2014 grgSisob ety o0
- ) | 30200R 3¢5 20 D DY HOOH ceereess
(1) 1ot &5 of ﬁ
(1) 20énisb
&) dpub 9 (2) Bairets
(3) 3.3. %5 (3) 305 Bctire b
(4) & (4) sl _
3. Centra a@ ay isobservedon... | 6. Prithvi-Ilisa.............
(1) 24 (1) surface to air missile
uary 24 (2) surface to surface missile
$ February 24 (3) air to air missile
$ (4) March 24 (4) air to surface missile
DopsE ' A 54 S ;W p— Rl § (3 SPIRRRS
) E,..;ig (1) 4 &350 Beo ool 0 68 3% Lued
(2) 4ir &350 Beo Mool A0 Beo K W
(2) 22550 24 <r3
(3) iesd 24 (3) ™OE ol ™D 63, Ssed
(4) 5% 24 (4) ™8 Mol 4ir &350 Hoo DT Ik
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7. Modern computer was invented | 9. The famous 'Kalighat Paintings'

|, ST belong to the following state.
(1) Newman (1) Assam
(2) Bill Gates (2) Odisha

(3) Steve Jobs (3) West Bengal
(4) Charles Babbage

sl Koigrsioh 15 K0 THD veveeres
(1) g
(2) DERS,
(3) Sy
() SH i
8. Kunchikal Falls are located in the
following district of Karnataka. ] musician T. R.
(1) Shimoga £ e .' Mahalingam and N. Ramani are
\ associated with ..............
X
(2) Violin
(3) Veena
(4) Flute
g ot B . esb, Surdoric Sobatino
ﬁﬁ%m%wﬁo&‘@b@m .....
(1) M
(2) 08
(3) 9o
(4) Sewd
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PART-II :
CHILD DEVELOPMENT AND PEDAGOGY

BOOKLET @

11.

12.

&

One of the following characteristics

is NOT related to teaching.

(1) Teaching is a tripolar process

(2) Teaching is an interactive
~ process

(3) Teaching is an art

(4) Teaching is static procesd

300 &k et SR8 oy, elrie S
(1) S50 ¥ GRobak 8w

(2) S5 28 BEHE B

(3) Shoel s

(4) S%S 2% DS Bdab

One of the following statements 1s
not related to preactive stag
teaching. \
(1) Fixing up goals v

(2) Taking dec about content
(3) Assessl

obj ermined
(4) eloping teaching strategies

&° 2.5 £h555% Yty dcirlo 5

(1) oo giinte

(2) e Medod dgaires Bisssto

(3) Rl oFyes 30T 8 sotr
Satstie

(4) Shemgrgstons edipf state

WS-28/TET cum TRT-411-EM/TM
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13. One of the following is a social

reinforcement specially for mentally
retarded children.
(1) Smile

(2) Money

(3) Food

N

4. In enhancing speaking ability of

children with hearing loss, the
trainer shouldn't ............

(1) always use one language

(2) face towards child

(3) speak small words

(4) shout very loudly

D0386%0 Ko boo EpS 9B
Sotaspiss BEesse FRy SabErElS.
(1) dgsptr ol o aisarhcite

(2) demn Supo ™Y R achie

(3) iy STPe0 WFLPE0

(4) Tor N estiso
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15. As per RTE 2009, the minimum | 17 Following is not related to the

number of working days specified computer aided learning as

for classes 6 to 8 are ' introduced in primary schools.

(1) To encourage children to learn

(1) 220
@ 200 through CD's

(2) To make learning a ]u;.,rf@
:j: ;:z activity _ "

RTE-2009 Szdo esth S00d oS
OO U TRICUHOR B BRBTHRL.
(1) 220
(2) 200
(3) 180
(4) 224

16.

| 18. Sitaram, a school teacher, never
takes the opinions of others. He
takes decisions by himself and
instruct the students to follow.

(1) laissez-faire leader
(2) permissive leader

h nsellur acts as a facilitator (3) participatory leader
(4) authoritarian leader
b 208 06" G oottt Bosb.
D (1) SRR 5 5o Dspotats S T 50 2.5 SIRRATNED Syt e
oPFIry; B, dgcires oW
ot BRBopts.  BW®  bow®d  TO0
(2) 8O WY SRS TR eoirts Sroleisand KrEdd. horoe X ...
(3) s Sooea0s Mistcurg s duy D (1) &5y 8nd Tobinm
(2) essonoBod o
(4) TRob ol SECD B BRSO 3) :

(4) Q=0 IGE TraiE
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19. A project shouldn't have ..........

(1) a purpose
(2) a plan
(3) artificial environment

(4) an activity

20. Gopal learned vocal music. Now he
wants to learn swimming. Here the

transfer of learning is .............
(1) zero transfer

(2) positive transfer

(3) negative transfer

(4) bilateral transfer

he following book is treated as a

milestone 1in
psychology.

(1) Inguiry into human faculty and

its development
(2) On memory
(3) Forgetting
(4) Animal intelligence

WS-28/TET cum TRT-411-EM/TM
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22.
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o8 Psiwes’ s 53 Earmes 5P

Figos" Boe o frlcsmEBod.

(1) doNiomb g5 Il ohh ok
25, Betased

(2) esmdodaed

(3) »EAZeR
(4) 2085000

In one school, children ar Q
science by doing E:{pEl‘tﬁ
their own. Then their
(1) immediate me
(2) rote me?w
(3) passive
}r
: Eniﬁtigm Hooodhes o¥Sas

(4) activ
P05 TP 500y SISO, &3 hee

) 539,30

(2) 2898

(3) PREPEI

(4) SarES )0

Nishanth while preparing for
examination first studied Hindi and
then Sanskrit. In Hindi examination

he is able to recollect only Sanskrit.
Thisis due to......... i

(1) repression

(2) proactive inhibition

(3) retroactive inhibition

(4) Zeigarnik effect

Haob 18Eu HGEREH B Bastis el
BETD S0y, YO SOTHD. e red
8 ool e Said), Yo HrERe
(1) sss9

(2) HERestie

(3) & st

(4) BGS Beriso



24. Maslow called the needs necessary
for the survival of human beings

(1) safety needs

(2) esteem needs

(3) physiological needs
(4) self-actualization

SR GO D ereraes
(1) bEes sSdomes

(2) BT wssores
(3) =085 wstores

(4) oS0

A parrot astrologist trained his
parrot to pick the card only when he
moves his right hand. But the
started picking cards 5

25.

moved their right han 15 due
(1) stimulus

(2) stimulﬁ

(3) spont
1on

£0, 5 Bdlon FABEHD

ool TR She s AT, oD
Deastf Jistis Wi 30U 3 SaAcd.
B3 TS cenrvrasens

(1) abismr Faristes
(2) aoum Dules

(3) ettty 208 i
(4) Stasraho

ation

mination

s recovery

N

WS-28/TET cum TRT-411-EM/TM

(7]

BOOKLET @

26. One of the following schedules of

reinforcement was not proposed by
Skinner,

(1) Fixed interval reinforcement

schedule ‘ ‘G
(3) Continuous rei opgement
' schedule

?‘Q

schedule

(2) Fixed ratio reinforce

(4) Social ent schedule

38 2B EESRE08.
) oo

%méw

(3) DucBsLRsERe

(4) Do S5 e

27. The third step in observational
learmingis............

(1) attention

(2) performance

(3) retention

(4) reinforcement

(1) esge
(2) oo
(8) e
(4) Ygese

Turn Over



28. According to Vygotsky one of the

29.

WS-28/TET cum TRT-411-EM/TM

following will help individuals in
'self-regulation’. i

(1) Higher mental functions

(2) Social scaffolding

(3) Lower mental functions

(4) Collaborative group

2R%Shy, EToo 208 TIE° e Si%e
HScioEioRie s S SEstoed,

(1) exB s peoge

(2) Sechol st Mo

(3) Dy DY BN
(4) SNEFK SBare

31.

Rnxsen D, 30 5+ B SoTIATOOI.
(1) DS (2) BoDTg 58
(3) ood e (4) BONRSo

One of the followingisnotin t ,i
tests of Weschler intelli : :

for children. =
(1) Block design tést

'The wine land social maturity scale'j 4 -.i-__..:l_:

1s used to ASSeS8 ...ccvueeees
(1) attitude

) @) g

“unable to answer the

\8stions in an interview. Sankar
started weeping in the interview
. hall like a child. This defense

mechanism is related to .........
(1) displacement

(2) reaction formation

(3) identification

(4) regression

(8]

(3) (o D i5t5y5 18y (4) endman

The mental age of 10 years old
Narayana is 6 years. As per 1Q, he
may be classified as..............

(1) idiot

(2) imbecile

(3) moron

(4) average intelligence

10 5e3585,07e Sy, o Poraiees W
So¥sitey 6 BeRdyores. Rred B5le
(1) Sorgatsd

(@) e

(3) eoymgimints

(4) S Pemboots
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33. Incxperimental method ‘controlled 35. Krishna is studing intermediate. He
wants to shout in the class. But the

. college rules do not permit him to do
(1) the group which controls the so. So, he kept quiet in the class.

experiment According to Kohlberg heisin .......

2) th hich i t affected (1) conventional morality
(R E18, Qroup SEieh 16 e wee devel I-stage ITI)

Eroup’ Means .......ceeeeee

by the experimental conditions (2) conventional morality
(3) the group which conducts the (level Il-stage IV)
experiment (3) post conventional mnro
: : (level Il-stage V) ‘
(4) the group which was kept away ¢4) post conventional ity

fml'lf-l experiment (level 11l-stage

SCUPK S CIctizoes ShamTe’ e W
(1) SR JChoBos Shore Lol
(2) A SO2t0es: BTN e im&mm'ma .

(3) SRPTY Ao S
(4) BGIFNe ol EAte ol

3 DORTAIL PSS
Ramu 1s able to draw co ( ]?? 11 'ﬁv}

different angles. But in t@ (4) e SOSTPOL DOS

of the model of cone le to (o 1T -3¢ VI )
Piaget

LS }
34. By watching the model nf.cmn (m I - 50 “’)

draw the cone. A 36. The mental development of a child

heisin........... is slow. So his moral development
(1) sensori also become slow. The principle of
9 1 sta development related to thisis.......
@ i (1) principle of predictability

3 operational stage (2) principle of continuity
ncrete operational stage (3) principle of uniformity of pattern
— stotnil e (4) principle of interrelation
‘S ”Ei":wé‘"" i:fm:..r::- i 15 b By Do Windm Soto
A P S0 S0 POE DT G BN
S TSt opssin AcBs bairR S, An3 Soralols DI Xe.
Bt st H1 568 &S e (1) owaxa, Selstonnuy
(1) 53 oy 52 (2) Dziso iyhom Jotool.
(2) Pt 2o &8 (3) Szvise 15 SR TR
(3) Aoiss Sores S el

(4) SO Jvdes SEHE Sowoiom
4) ST &% -
(4) S Srel i
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37. Satish is not interested in doing 3ol ::'E'Eaﬁi «%3 NCF 2005 % {iore

homework. And at the same time he )

doesn't want to receive punishment (1) - 5t & S i
?-:Essc ol ol

from class teacher. The conflict of (2) S¥o0 vme 258 BoPowd Ly

Satishis............ agtben® Gogrd

(1) approach — approach conflict ) m w o el L5 8
tPlom dcl

(2) approach — avoidance conflict (4) 265 ubah el
(3) avoidance — avoidance conflict Foo oo
4@?& an

(4) double approach — avoidance | 39, Ope of the foll

conflict overla ppmg ata
(1) Adol
3850 F%0b, Sato e B, eI

38. One of the following i 40. A school management has

cTatiion té NC cum:.!utfted seiectml} test for
: admission of a student into 7*class.
vironmental .

(1) Aw arene

As per RTE 2009, they should be
conce permeate entire punished with a penaltyof ..........
iculum (1) Rs. 25,000/ for first mistake

(2) Rs. 10,000/- for first mistake

arts should comprise a
(3) Rs. 50,000/ for first mistake

subject at every stage of school

_ (4) Rs. 20,000/- and 6 months
education imprisonment
(3) Peace education should form a L5 2npe cﬁ?u:bﬂgu?:wwm
component of teacher education w5 DongBd Dol 384 Didrolod. RTE-
2009 @Ssrte 03 DHow Dals nlir

(4) English need not find its place (1) s 550, 25.000/-

with other Indian languages (2) Roded B &, 10,000/-
(3) oo G5 G, 50,000/-
(4) T, 20,000/ S0bcis 600 Boo 3

WS-28TET cum TRT-411-EM/TM [10]



PART-II
LANGUAGE I - TELUGU BODRLEL @

41, tesoTRiShe eRisto Bb vy 45. JoogRestid el S THIO
Soelolsn b o grovyl e ele (1) e wisio
(1) oreiases (2) oZedwwte
(2) B (3) Seglodlnt S0
(3) smmoe (0 spefeowene @
(4) S5 46. Beros*HETed’ &y DALY
D grar o c
42, S’ STPRe TQes LS (1) 50055 Py

(1) SEsS . (@) axe

= &
(2) WEgsss (3) O \o
(3) Seay (4) &

(4) == : o DS (SEPAODS 8D
43. QP DOl DS BPIIEO Feootss
(1) Houcls e 08 I850
(2) Sossojpo \ 231; o5
’ 4) S
(3) Ingudio v

(1) Dasssos AR
! Baf Sy (2) B Sohsria
(3) Shsioo esrsioSio TR0
(4) Froban SOOI
49. BgSinge o, O, DegdY sNoRE
SSEasS P,
(1) Sofoedh g2l

(2) SRETH
(3) ><Eo5 8

(4) Erm gl

Y em et
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50-53 : 300 Som 50D 50 1ood 53 ST o SHots 0N SErgreis 8etel.
PO 556 95,29 30 SYTBSCT SFTGS SopirRbSo FRdcl. Syt S kel
ol B0, SEtund’ DILY Lo HY,S S35, Snch Pyasds SFail s, Hm 0

DN A, NSSECE SADeIETLL. S5O S By Folie Folte MRty S

S e OGN SoiENls (Hodn”. wigliooll e Sotie
O 55906’ dlurecT TR - ST S SEes X EbIa. 5RO 05D

\
"b"

1 Dot 5iS5a0

) e

(2) 5%

(3) ne

(4) oo

2 SorE° ESiPeCTTNe: HapeT
SrEiShoes 630

- (1) woomdSoueiivn

(2) $o8 iscuoioes

& (4) st (3) T3 somotons
(4) 30 oo
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w5 O PSS Sely, 18 Kol
(1) @rgmoysod®

(2) Gorsced

(3) wasrd®

(4) Sasr=S

SopoLive Boly Sewomry, SegSor
JiSoad

(1) S5

(2) n&yx "

(3) 58

(4) oo

255 e’ Bieiere Dexed® nEhs
BB Sograr i e
(1) Sox

(2) %0

(3) esess

(4) Hovess

55.

56.

N\
57. "v
| {1] e fb*

(2) Srove

P oon Beslb 68 Sy ‘e B
sy’ e SOPRS el

&

(1) =ren

(2) 2520
(3) Zxto
(4) Trse

WS-28/TET cum TRT-411-EM/TM
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61.

63.

(13]
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(SH0 SO FEen BleLY. B TEo
(1) FqgETyo ' |
(2) s Tgo

(3) EEBII T

(4) FHoIFETE
Rod-008, TAEY - DY DD
(1) Pssores

O<°
s+ o &0

& ®
(4) sogries (\
::mg X SoFnties

(1)
(2)

NS Spo 25ftotn el @00. 3RE
adein o Sorid eo

(1) oo

(2) »8

(3) 2

(4) o

ISR e SO0 DHO

(1) 33

(2) =3

(3) =3,

(4) =%

Ba 300 TS Sse e, Bodd e

SodissEes
(1) o, Sess
(2) BySse, Fesd
(3) e, S50

(4) egySe, S0
Turn Over
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65. &Y w0 Hd;¥ Jcsre SSwTraiio | 68. Wnawmwﬂ
esPlem D000 SN TrIve Siemrae 0O S Sioes
&9 MxDoord. (1) Dtes 550
(1) 505 ek (2) S350

2) FHo>hd, (3) eoussd &
(3) =5, 5. vh o
(4) Ja0 o8

66. CRITN SeTIS Swo-2011 5 Wrdrobod
28 B T Lo SiIoE)
(1) 21

(2) 18

(3) 12
(4) 15

WS-28/TET cum TRT-411-EM/TM [14]



PART-IV
LANGUAGE I1 - ENGLISH =~ BOOKLET @

71. Identify the correct suffix for the | 75. Identify the antonym of "harmony".

words given below. (1) Peace
Word Suffix (2) Tranquillity
(a) doubt (i) ness (3) Disturbance

76. Read the sentence.

 ®high G ful ey &
(i11) ment o

(1) @-—Gi), (o) () Hirachand told about ‘ll! had
(@) (a)— (i), (b)— (i) (A) ¢ ®
3) (@)-G), b)-06) happened, o

@) (@)~ (i), () (i) ©4e N

Whi %} tell / tells us about the
72. Identify the 'synonym' of the word efirlieraction in the sentence?
'\'E!T small’. 0 {A) and {C} '
() tny @ (©)
e (3) (B) and (C)

(2) microscopic )

\)

(3) gigantic

(4) insignificant ‘1 @) @A)
73. Which of th words does | 77- Read the sentence.
not {:umeq edicinal plants? I can recall those happy events.
(1) er )
The word underlined shows ..........
(1) belief

Garlic

$ (4) Palm (2) conviction
(3) ability

74. What is color 'azure'?
(1) Red
(2) Sky blue
(3) Green
(4) Yellow

(4) determination

WS-28/TET cum TRT-411-EM/TM [15] Turn Over



78. a) Vimala . likes singing.

b) She likes dancing.

Identify the correct sentence you will
get if you combine the above
sentences.
(1) Vimala likes singing and as well
as dancing.
(2) Vimala likes singing but
dancing too.
(3) Vimala likes singing and she
likes dancing as well as.
(4) Vimala likes dancing and
singing.
79. What do you say when you see a
man who is eight feet tall? @

(1) How tall he is! v\

(2) How tall i1s he!

(3) How tall Eh%

(4) How bigi

L?rmutwurd that can fill

k in the sentence.

emiller.............. his son onto the

WS-28/TET cum TRT-411-EM/TM

82.

(16]

81.

ity
ability

BOOKLET e

Identify the two words / phrases
which can fill in the blanks in the

(3) was writing ...........
(4) was writing

(2)

[dentify the passive form of the

sentence.

Everyone in the village liked rip.

(1) Rip hiked everyvone in the village.

(2) Rip was liked by evervone in the
village.

(3) Everyone liked Rip.

(4) Rip was being liked by everyone
in the village.

Identify the correct set of words to
fill the blank in the sentence.
[f you do not water the plant,
(1) it would die.

(2) it will die.

(3) it can die.

(4) 1t will had died.

llllllll



85.

87.

N

WS-28/TET cum TRT-411-EM/TM

Identify the correct pair of words
that fill the two blanks in the

sentence.

(1) many.......... at

(2) much near
(3) alittle............. in
(4) lotof............ inside

Identify the correct pair of words /
phrases that can fill in the blanks

in the sentence.

thgrrect sentence.
»

1s heaviest boy in the

2) Raghava is older as Rajesh.
(3) Harini is not so tall as Prem.

(4) Vamsi is tall as Ramana.

[17]
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Identify the correct set of words to

complete the sentence.

This is the book ...................
(1) which I got from grandpa
(2) who my grandpa gave me

&

(4) when I got it on my hc

Identify the 505 which

contains

t
(1) § n lea
2"

(3) where I read stories

ing French

w him smoking.

Q Smoking is injurious to health.

(4) Why are you standing in front

of my house?

Identify the correct question tag for
the statement.

I've met you before, .............
(1) haven't 1.

(2) haven't I?

(3) didn't L.

(4) isn'tit?

Turn Over



BOOKLET e
(91-94) Read the following passage.

A passenger, named Ravi, was travelling from Shimla to Delhi. He had a hn: of
30 apples in his luggage. The conductor asked him to pay for the luggage {apples].
Rawvi arpgued that the apples were given to him by his friend in Shimla for the members
of his family. He also said they were not for sale in Delhi.
The conductor did not listen. He insisted on payment
Rs. 100 as luggage fare. Ravi repeated his argument. The conductor repealeﬁ@
demand, stopped the bus and asked Rawvi to get ofL.
Just then a clever passenger took Ravi's permission and distribute pples

“ﬁd not say

into the box and

to thirty passengers on the bus. The dispute ended. The condu
anything but start the bus.

When the bus reached Delhi, the passengers put
Ravi took them home.

Now answer the following questions correct t@w your comprehension.

91. Why did the conductor ask Rawvi
buy a luggage ticket? Because

y did the conductor allow the bus

to continue its journey?

: t‘huught- """"" _ e % (1) Each of the passengers had only
(1) Ravi would give @ one apple each.
& Eﬂ; : B anples ‘{2} The apple ‘hm: was empty and
(3} apples s ?‘ = " cariieilly the inspecting officers would not
find fault with him.
(4) Ra an apple-seller. (3) The apples were hidden under
99. a_‘m arose because one of the seats.
. i T (4) Ravi bought a luggage ticket.
vi was not willing to buy a
@ luggage ticket. 94. Who sFuwad}nve for the members
$ (2) The passengers objected to Ravi of Ravi's family?
carrying apples with him. (1) The conductor
(3) The apples were given to Ravi (2) The driver
free. (3) The copassengers of Rawvi
(4) The conductor wanted Ravi to (4) One of the passengers on the bus
put the box of apples on the top
of the bus.

WS-28/TET cum TRT-411-EM/TM [18]



METHODOLOGY BOORLEY e

95. Identify the correct statement on
teaching reading in Enghsh.

(1) We must ensure that pupils

read silently with
comprehension.

(2) Our pupils must read fast at the
cost of comprehension.

(3) Our pupils must be taught to
read slowly with 100%
comprehension.

(4) We must encourage our pupils
to read aloud all the time.

96. ldentify the correct statement in
English language teaching.

Oral presentation must be followed

(1) reading by the pupils off th
blackboard. @
(2) speaking by pupils.
(3) writing of own sen he
teacher.
(4) reading the
by pupil

In the
tea mar, the teacher ......

passages

with the rule and goes on
to give examples.
2) gives a lecture on how grammar
functions in a language.
(3) begins with eliciting examples
and arrives at the rule.

tive' method of

98. New English textbook materials are

fﬂr (AL L RE LLLE R LLEL

(1) intensive reading.

(2) extensive reading.

(3) intensive and exhaustiv
reading. &
(4) intensive and ex oe
reading. c
&

99. We teach poe e we want

(1)

uﬁ&ﬁng ! reading poems
n

rive pleasure.

anpprﬁ:iam poetry and poets.
)

to learn new words
(4) to consolidate the language

learnt through prose passages.

100. In a test on 'cooking’ the following
test item was included.

Identify the price of an electric

microwave oven.

a) Rs. 5,000 b) Rs. 10,000
¢) Rs. 2,000 d) Rs. 7,500
The above test item is..............

(1) not rehable

(4) highlights the importance of (2) not valid

grammar 1in learning a
language.

(3) reliable
(4) valid

WS-28/TET cum TRT-411-EM/TM [19] Turn Over



PART-V(a)
BIOLOGICAL SCIENCE BOOBLET 9

101. In the words of this scientist,

, : : 104. The term, 'parenchyma' was given
"science 1s a history of corrected

mistakes". by this physician for the pit-Elj" part
(1) Schleiden of the plant.
(2) Von Linnaeus (1) Leonardo da Vinei
(3) Karl Popper (2) Theodor Schwann
(4) Theodor Schwann .

) (3) Marcello Malpighi o
S ??‘9 Wuq_‘ R e (4) Nehemiah Grew

E‘%"'
(1) 5a5 (2) o5 Thawd Dok, EBgrmnd
@) oE>E  (4) QB RS S s

102. Potato is an underground stem (1)
modification, as it is showing these (2)
characteristic features of the stem. (3) Dyt
(1) Storing of food and brown color s
(2) Axallary buds and scale leaves o
(3) Storing of food and shoot apex ardener is cutting the terminal
(4) Green leaves and roots

. O
h“ﬂ

buds of the plants lay in a row. The

(scientific) reasonisto.......

(1) activate the growth of the
terminal bud |

(2) decrease the growth of the
lateral buds

(3) activate the growth of the lateral

AL P % burning topic is 'Bt".
thuringiensis (Bt) is an buds
: e gainst these pests. (4) decrease the growth of the plant
Fungi (2) Bacteria et Semd, s
) Virus (4) Insects it s Lo b g

S0, 803 THAl T cuene.

D63 (Bt exp aistio Sy Sciirsic; e
mﬁaﬂ.}ﬂuiﬂt}%ﬂbﬂmbﬁﬂtﬁhﬁ i P sas
ke (2) o Shtmre Dtvbioms Blictto
(3) :‘:d:" (4) S (4) Seol, Dlorolone Bletis

WS-28/TET cum TRT-411-EM/TM [20]



106. A farmer bought blue labelled seeds
for commercial cultivation, it means
the seeds are
(1) nucleus seeds
(2) breeder seeds
(3) foundation seeds
(4) certified seeds

£ Tio e Sowsiio DO Sec Salt
D6 RS DiTrein Snts; soil & Dirres
(1) 0% DEres (2) §06 D

(3) T8 dEres (4) GHusbolns Dmren

107. 'In wvitro fertilization', a boon to
mankind is deteloped by
(1) M. S. Swaminathan
(2) Panchanan Maheswari
(3) Hargobind Khorana
(4) Birbal Sahami

---------

BOOKLET @

£9e SENETEs O erreresaes
(1) £2 SO HRides —» wSakren
— PO 5 ¥rPer o Ememoten

— SEAPSS
(2) Sarecpes
Srugo — Smavoer 5
(3) SoFrupo —
SOED - wadies
(4) SErmges o
Ereaiver —

snciaradl, — 20

&S, the m:ts which

ground and grow

SEPO3 Ll S S0 Seleonin WEE;EE?;,
ERPTRD weireeecensas 4) pneumatophores
(1) 355 35, 2oy e St 2oty SV 803 5, Dersgm 26A R0
(2) Somsh woingd v (1) FHaarSBes
(3) ER*DeE Formr 9 (2) o drbeas
() Bhebiss® (3) o fmare:
108. The levels of ation of life (4) :n;‘-‘xm::

AT ...ocrerenns -
(1) 18 organ systems —»

— cell organelles —

organi
& tissues —» molecules
; organelles

toms — i
molecules — tissues — organs

(3) atoms — molecules — tissues
—» OTEAns — organism

(4) atoms — molecules — cell
organelles — cells - tissues —
organs — organ systems —

organism

WS-28/TET cum TRT-411-EM/TM [21]

110.

To regulate the bud dormancy and
seed germination, we have to use ...

(1) abseisic acid and gibberellins
(2) auxins and cytokinins

(3) ethylene and cytokinins

(4) ethvlene and abscisic acid

ool BaDRESD, DEres eothione D, i
SEDEIE S50 TREESEIROD) eeerens

(1) edS wie, 2005

(2) edSes, 2505

(3) 3985, PS5BS

(4) 2085, efthlaice
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111. The total number of nuclei in
Datura embryo sac synergids, egg
cell, central cell and antipodals are

&358 Lok S%o &' St Neres,

eoline, dot S BODuE Srredt 4ol
2olo SOETV0 ST weevsersens

(1) 2,2,2,3 @ 2,113

(3) 2,2,3,2 4) 2,1,2,3

According to Cavalier Smith, the
living organisms are classified

112,

(1) three kingdoms
(2) four kingdoms
(3) five kingdoms
(4) six kingdoms

(1) SrSomes (2) Pouiboee
(3) soowmes  (4) uﬁ:vﬂfn
113.

In the hierarchy of classj
these are placed in
and class. ﬁ :

(1) Species — Fami

ﬁeu protists can prepare their own

food.

(1) Nostoc (2) Dhatoms

(3) Bacteria (4) Rieccia

1 (DFe0 elton), Moo B
Tushen

(1) =»>5 (2) Gt

(3) wioa (4) S3yaur

WS-28/TET cum TRT-411-EM/TM

BOOKLET e

115. Roundworms belong to Nematoda,

as they have............
(1) bilaterally symmetrical body
without pseudocoelom

(2) cylindrical body with true
coelom
(3) cylindrical body (v@

pseudocoelom

(4) bilaterally syn@&l body
with trus

Neredainte SRS O, s M ¥dte

. An agriculturist wants to use this
method of plant breeding, conducted
only for self-pollinated crops in his
field.

(1) Mass selection

(2) Pure-line selection
(3) Clonal selection
(4) Hybridization

L8 SSICHTED JESON Sost0 0D
Soweh B 5000 B0 8 Mos?

OAPAOW §ioreiin Hotamd. 6d
(1) doe Stewnn

(2) %o 5% Soews

(3) S%o8 vteamn

(4) SoStes

[22]



117. A person 1s excreting very large
amount of urine, more than 15 liters
per day and the doctor said it is not
due to common diabetes. The disease

(1) diabetes mellitus

(2) diabetes insipidus

(3) poliomelitis

(4) glossitis

&5 53 0GB ool woll Herd 15 by
WP WP IIPRTHE; TFC 0
A SN T TR . 6 D
(1) Scirzald Dobud

(2) ScrBadh gonnth

(3) JDA> bt

(4) Adh

Ll

118. Indian dairy development board,

achieved fantastic growth by this .:'

programme.
(1) Blue revolution @

(2) Green revolution
(3) Operation flood

arge number in the very center of

QNP retina; itiscalled..............

(1) red spot (2) white spot
(3) blackspot (4) yellow spot
s 3elE  Jmsene B iotierne 6 5%
QY Sogy8' IO douron; TR S8
(1) s, (2) By,
(3) wolsacy, (4) S,

WS-28TET cum TRT-411-EM/TM
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120. The method of producing new
varieties by crossing two genetically
different parents is knownas ..........
(1) selection
(2) mutation
(3) polyploidization
(4) hybridization

(3) maiydsia

In cockroachythe

in trach d t
present iu%

respectively ....

ek

121.

il
g W i
PR

(2) 24, 12
4) 12,13

192, The wonderful hybrid plant, which
gives fruits on the top and tubers

under the ground is..............
(1) tomato (2) potato
(3) pomato (4) ginger
DT Sotis, Db’ oot 3, etint s
S5 00K, ernenne :
(1) wvarst (2) Hrs
(3) amst (4) eoeb
123. In a person the production of the

haemoglobin is abnormally low. The
disease may be ..........

(1) Haemophilia (2) Septicemia

(3) Typhod (4) Thalassemia
£5 5,35 LaafinS &6 Susbocm tien.
& D 30 THEY cesssennen . |
(1) b (2) aihdua

(3) 2ok (4) BesSsa
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124. This application of Genetic | 126. Replacement of deleterious genes

Engineering 1s used to solve with functional genesis...........
parentage disputes and to search (1) Gene bank (2) Gene pool
eriminals. (3) Gene therapy(4) Genomics

(1) DNA Recombination =

(2) DNA Replication Foflotnelnd eioos SEsem 3033
(3) DNA Fingerprinting Eﬁﬁﬂﬁi ﬁ_@m P—

(4) DNA Hybridization (1) &5 8B (2) 5355

B35 goullch dlu¥y, T wlodble (3) 5ot (4) £52:5,
BOSCEITHD e JTrores, oo %55 | 127. Sterility in males and abo Q

55 Dol EnarsGEeel females occur due to the deficiéncy
of this vitamin. =
(1) DNA 8zefiin (1) Retinol -
(2) DNATESS (3 Calciferol
(3) DNA 3o BoueR Sosto, ests
(4) DNA 3pDasss el sog .
125. When we are hungry, the hunger R (2) sceass
pangs come in our stomach. The N 4

reason is............ |
(1) falling of the glucose level and The ability of a plant cell to divide,
secretion of Ghrelin grow and produce the complete plant
(2) falling of the protein | under controlled conditions is the
secretion of the pep&i cell's ..............
(3) falling of the glul;: and (1) Totipotency (2) Fertility
secretion of the tripsiz (3) Sterility (4) Division
(4) falling of the\glucose level and .
secretiong@b W eapsin DAoiGoD wd S0hBs® Y Dk
s ettt 553 306 wsd %m%mmwﬁm&
o wr D, DETLEE, &G Sl Srodinl,
= £HOTPOLY. TR0 cainnans 7 ”
o ety O (;.} 2008 {4} .
st (3) 2 {}}1 R
at 129. In our country the first kidney
(y anspige e SEERIE, W transplantation was done in this
Boohesis Medical college hospital.
(3) KPSE  ow  BAFsto, e (1) Osmania  (2) Manipal
SSDevets (3) Vellore (4) Vizag
(4) 1rS*E o BENuso, RGN Ssdios® oot Sarphols SRGE, B
Bootetss 2025 TBE S0neb S aBhcd
(1) &xdar  (2) wed>b
(3) 220 (4) T=h

WS-28/TET cum TRT-411-EM/TM  [24]



130. In the process of tissue culture the
medium is sterilized 1n ............
(1) boiler (2) incubator
(3) autoclave (4) vapouriszr

(1) oroxeb
) ostS

131. The "instinct behaviors" of the

animalsaresuchas...........

(1) building nest by birds, choosing
mates

(2) learning how to swim, walking
behind the parent

(3) giving responses to stimulus

(4) imitating the others

ool molitigo Glaok,
(1) S K2 2
Jods Esshste
(2) SeusERooR® B
ook oSt

(3) Boess
(4)

132. Tho & of microorganisms in

ach of the animals such as
ites, cattle, horses, rabbits ete.,
elp them todigest ...........

(1) starch (2) glucose

(3) cellulose (4) proteins
SERpRIOES, S, ToTres, Btk o
EolsYe Eoidied’ So oS’ &t 5%,
£ges, 822 Ste SaberRd SFainitorcs
(1) dodsorores  (2) S

(3) Dol (4) S

WS-28/TET cum TRT-411-EM/TM
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133. This cell organelles participate n
the digestion of food materials and
under certain diseased conditions
cause the death of the cell is also

(1) Lysosomes &

(2) Ribosomes
(3) Centrosomes
(4) Chromosomes

. The animalecules, named by
Leeuwenhoek, later named as ........
(1) protozoans (2) bactena

(3) virus (4) yeast

BRSRS 3 Dol 6 S dunds

3, BUTPO DSS D crveesenes

(1) S5%E%5e  (2) or30oir
(3) 5 (4) 3

135. 'Aster'is centrioleand ............
(1) centromere (2) chromosomes
(3) spindle fibres (4) chromatids
(1) Ddosoank

(2) E2rE’E
(3) HoC Bobispes
(4) SardEes
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136. A boy 1s suffering from sore throat,
cold, cough, severe body pains,
vomitings and motions. The doctor
advised him to go for blood test
immediately. [t maybe ........... :

(1) Chikungunya
(2) Dharrhoea

(3) Lockjaw

(4) Swine Flu

Fﬂﬁﬁ'@,m&gm

137.

\93.

—

Lo Spe, Todoes, 26'%5re & Y
POLOUEITHES. & D 30 TWHEY cenees
(1) ol (2) ccboawr
The first person, who proved
experimentally in 1768 that
boiling is ........... :
(1) Spallanzani v\
(3) Leeuwenh 9
(4) Edward:]
R A
=0 (2) ercar b
(4) dEg=b
Find the wrong pair.
(1) Diphtheria — Corynebacterium
(2) Tetanus — Clostridium tetani
(3) Malaria Plasmodium
(4) Amoebic dysentery — Amoeba
proteus

Pl TSN D, G0 Dousd L 30y
(3) o5 (4) T
microorganisms could be k.i]led
(2) Louis Pasteur
e Dle
1768 ?@515& n-mm
HGE
diphtheria
falciparum
WS-28/TET cum TRT-411-EM/TM
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O BB 0cted.

(1) 230cur - MOeritane Ad0arr
(2) Dessh - Elhdaio Bed

(3) SBO - SRR PTID
(4) eteDl &doid - ebooSdanh

139. The tissue, which protects t

parenchyma from damag 0
stretchlng bending and L ure
(1) Sclerenduyoo

(2) Aere

3 C
4

yma

e tissue

R, SO, TOA3
St 5603 Shsstbote T S
(1) H5r (2) o

(3) Sspar (4) Dedod Smeeo

140. Calcium phosphate and calcium

carbonate are secreted by ............ .
(1) Leukocytes
(2) Osteocytes
(3) Lymphocytes
(4) Granulocytes
Paibo iy, Thate PEHS Dl ool
Blovedara ..
(1) emshades

(2) edarnSes
(3) DeFnSen

(4) Trasg&pdes

(26]




141. At a height of 13 km above the sea
level, the concentration of oxygen

(1) equal to the sea level
(2) half of the sea level

(3) one third of the sea level

(4) one fifth of the sea level

S Sip08 13 88° Sowt Suebt edeS

(1) S Bope SR ot o8 Samse

(2) S0 Sosse SIRS sl o6t o

(3) 3590025 Spizo SIS &cd TRE" Sares

St

(4) Soogsiiowe B dct 8" o Soto

142. When the baby is in mother's womb,

its red blood cells are generated
oM ..o

(1) liver and spleen

(2) pancreas and gallbladder

(3) liver and pancreas @

(4) gallbladder and splgen \
%@Mm&’w

:2 phase of interphase in
15 is the phase between the.......

(1) DNA synthesis and duplication
of chromosomes

(2) end of DNA replication and
beginning of Mitosis

(3) completion of Mitosis and
beginning of DNA replication

(4) duplication of chromosomes and
replication of DNA

WS-28TET cum TRT-411-EM/TM [27]
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145.

BOOKLET @

w6’ 500l SE @y, G2 S8 wipd T4
(1) & 28, . 3k odais Farsiiue

Byted Ste
(2) &. 5. D. SOHOT IS, IPLSH

i .(0
(3) Jprbd e, &. 5. D ¢

ntsen

(4) 52rE's, 55“#!#@;66 -

The expansi DS control
project prog e ASHAs ........
(1) AidsaControl Society Health

L flﬁ+ tion

redited Society Health

Activation

) Accredited Social
Activist

(4) Activation of Social Health
Authority

daxE, 50i5%E B50 ASHA mysive
(1) Sl 0SB 8 B e
(2) 3506 8 2 OES

(3) JFEDE XS ,EOLG

(4) DESS &h J3b € wgrod

The instrument, used for
determining "BMR"is ..........

(1) Spherometer

(2) Spirometer

(3) Sphygmomanometer
(4) Barometer

"BMR" Jgp00ucmn8 &3airhcn S08e

(1) oo (2) pEoub
(3) Rt dionh (4) er6honb

Health
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146. The relationships that exist between

147.

&

the quantity of living matter at
different trophic levels are
represented by the pyramidof ........
(1) numbers (2) energy

(3) biomass (4) production
D05 s o’ el SuSory ST
ol 608 SonorPeiy B DoD DEDE ...
(1) Sowb,buE

(2) a:-gbunf.

(3) et HELE

(4) @reags buol

The process of Nitrification, done by

bacteria is ............

(1) Ammonia — Nitrite —» Nitrate
— Plants

(2) Nitrite -» Ammonia —» Plants
—» Nitrate

(3) Nitrate — Nitrite -» Ammoni
—» Plants @

(4) Ammonia — Nitrate —

— wwfos —

o
;&43@5*%4

SaS e
(4) wardasr —» ES —» 285 -

—_emhes

148. Alkenes accumulated by this algae

WS-28/TET cum TRT-411-EM/TM

can serve as a source of fuel for
automabiles.

(1) Blue-green algae

(2) Botryococcus braunii

(3) Batrochospermum

(4) Bradyrhizobium

149.

150.

(28]
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e oo HoSakwHe BhE by
LPerloTeEEs alns Hulon SOCIM ST

(1) 5B - estisisiy oo

(2) SNBSS D

contains considera &

this radioactive ele

(3) oSt
(1) Bromiump
1141 Uranium

(4) edeEDae

Sand in the seashore of
ble

Gooty tarantula, found in Nandyal
and Giddalur areas is in endangered
list;itisa
(1) Red ant

(2) Colorful butterfly

(3) White bird

(4) Blue spider

somrge, Agerts (Sreod! 3000 Kl
PUowee e’ & Brroo =DoE Sal.
- = R ——— .

(1) dpow
(2) toibw Hors™ Dot

(3) 253
(4) Hosars b

------------



151. The plants or animal species found
restricted to a particular area of a
country are called scientifically ....
(1) epidemic species
(2) restricted species
(3) endemic species
(4) local species

5 Tiob" 1Y pdy Droord 000 &cd
T reoto eand)y FhcbeT 7o Desdx.
(1) M2l maves (2) TR esoe:
(3) ScaiSertves (4) 0¥ enies
Seasonal bioaccumulation of heavy
metals 1s seen in this fish of
Edulabad water reservoir.

(1) Catla catla (Boche)

(2) Cyprinus Carpio (Pedda Boche)
(3) Labeo rohita (Erragandu)

(4) Channa punctata (Mattagidasa)
Stoorerb et Seorcnh 6° 6l S 508"
PO e odr JErESsS
Eotopd® S,
(1) 580 (5)
(2) bvse oa»
(3) 2DERREE D
(4) &%
The

152.

's to save the
en are.............
v, Rate and Raise
ady, Recycle and Raise

&2
use, Ready and Recycle
(4) Reduce, Reuse and Recycle

153.

WS-28TET cum TRT-411-EM/TM
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The ozone hole in the ozone layer
1S e

(1) really a hole

(2) ruptured layer

(3) the area with more ozone

(4) the area with less ozone

(1) uom ¥ togse
(2) 2B

(3) L& eD3om &
(4) L&D e v &,
Conversion 6f Bag

sugars “glucose
microbi rocess is called .....

(1) sace
(

ication
orylation
nification

6 sulphonification
S &5 Do T iy 1S E a8 s

156.

[29)

(1) 2580 (2) dAR0ES
(3) TEHNESS (4) SEHES

Coal gas is a mixtureof ..........

(1) Hydrogen, Methane
Sulphur dioxide

(2) Hydrogen, Ethane and Carbon
monoxide

(3) Hydrogen, Propane and Carbon
dioxide

(4) Hydrogen, Methane and Carbon
monoxide

6% s &30 D3 D0 weneerenne

(1) 2pEes, 835, 3062 B E

(2) PERS, BaES, PopArT3E
(3) pfes, P85, S B eSE
(4) pEed, 23S, s oyl

and
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157. One of the following is NOT in 10 core
elements as indicated in National
Policy on Education, 1986.

(1) Constitutional obligations
(2) Concept of equality

(3) Protection of environment
(4) Removal of social barriers

2Ot Dy DoPiso - 1986 &*isrDotesdss
10 55705 wored’ 53 TR

(1) el apipbes, Shoed
(2) a0 TS
(3) SGsoee PO
(4) el wiole Selcd

While analyzing 8* class Biological
Science Textbook by using Hunter
Score Card, percentages of

158.

weightage given to content and |,
author's educational level are '

... respectively.

(1) 50, 10
(3) 60, 10

159.

level of questions of
paper of a Scholastic

------------

1item difficulty index, item
discrimination index
(2) item classification index, item
difficulty index
(3) item discrimination index, item
classification index
(4) item standard index, item

frequency index

WS-28/TET cum TRT-411-EM/TM

DTSl s S655° Bhe ol
Tahol BTNE0S” BB B Saroetio
DOLCPOS SN S8 SO -

(1) wots8sTe 8, oot SFer S0
(2) ec% 508 510, w08 TR S0

(4) ecdFaralsirD, sots

The project method h
developed based on
principles. One of the;
mcnrrect | te

160.

chﬂdren learn better through
association, cooperation and
activity

(4) aptitudes, attitudes, interests
and values

BEoy 558 5% Br@swe emom

OIS Babedsd, 300 6 L Bor

S5 ArBLven Somoghm STy,

(1) Scblio oo egiptte, Hiise onoe
mlw

(2) S5, ST, Doixic TATH eso

(3) Ardowcde, STlo, HiTve T
bgo wgsse

(4) Sore Sotmes, Beptves, esplisiow,
S TT eilipio

L L]

(30]
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161. The nature of science has been
explained in terms of syntactic
structure and substantive structure

/) .

(1) Joseph J. Schwab and James B.
Conant

(2) Joseph J. Schwab and Philip H.
Phoenix

(3) James B. Conant and R. C.
Sharma

(4) Philip H. Phoenix and R. C.

Sharma

gD TG M SOREPGS doyre
0L EITRORAT0 B SRR -
(1) €25 8. b wodatino 85, D. oS
(2) &5 B, 2 Sotoiny HES 1. §
(3) 855 0. S \
(4) 85305, 205, .30,

162. An agricultu te with his

new tho ented a paddy

dryin ent which dries up

1 less cost and in less time.
Biological Science teaching
& value involved in thisis ...........
(1) utilitarian value

(2) vocational value

(3) intellectual value

(4) basis for better living

WS5-28TET cum TRT-411-EM/TM
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25 Sl Seiots 3PS wfissed

By @, B Socied® gy e

DY S0 el Somis. B0 werd Beoes

208 o oo, g0t 3058 & 5773

Ssroess - &

(1) &3APTEY dosd O

(2) B R Jes

(3) TE3des

(4) ex®
163. The tea% ethods which are

Ni Ranped based on theories of
Mg are

llllllllllll

Discussion method, Dalton
method

(2) Story or narration method

(3) Playway method, problem
solving method

(4) Activity method, child centered
method

Bo8 TG ey hopobo egriom
(1) SopsE8, el sp0

(2) 550, 2300

(3) €500 35250, 155D 302, 5:3850

(4) HO50, DB IobipHn S50

Turn Over
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164. PROFORMA

Date | Nameof | Name of | Invoice No. No. of Total | Details of
the item | company | & cost apparants | Cost |entry & dates
The above proforma is used to maintain this register in Biological Science
Laboratory.
(1) Accession register (2) Consumable stock register

(3) Order register (4) Issue register

e ©

B0 | S b | 5D M | geeliRest || soioe
Soboi P85 S

> S S543¥ S5 BarrTed” B SR AR,
(1) Seoopss Ot {E}ﬁwﬂﬁﬁm (4) Svarh end Beist
165. To enhann:e his professional compe and skills the science teacher

ﬁ entation classes, science center, science
fair programmes. This roleef the seience teacher is said to be ..

(1) coordinator (2) famht.a 4 (3) explorer (d) gmde
D2 g, Rprmyeis Sat S0 et mp Ao cinty B, 1y, e, S
Do PB o pssre 68 36" mom Fapto o -
5 2 (3) esdaiintss (4) S

166. 1 egtion of ealth uf people of the world a) Objective

i1) Informing about diseases occurring in humans | b) Goal

iii) (St dents acquire knnwledge about malaria disease ¢) Aim

Qwhich occur due to MICroorganisms

&hen matching rightly, the correct answeris................

) @ pootsd ebimyd, S0udoute a) o¥e

i) SPHPO 55 T 00D DDAk Bakie b) me

iii) 300, Bpe Sed By B0 TG 1000 c) &5

TP, VP STl

E:Fﬂﬂ O™ SESEIIT BPOOWD SRPTFNO vesssssrane

(1) 1)—c,u)—b,n1)—a (2) 1)-a,n)-b,ii1)—c

(3)1)—ec,11)—a, m)—b (4) 1)—b,)—c,ni)—a
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167. For preparation of lesson plan in

168. A project

&

WS-28TET cum TRT-411-EM/TM

Herbart approach the right order of
steps to be followed are ............ ;

(1) introduction, presentation,
application, comparison,
generalization, recapitulation

(2) introduction, comparison,
presentation, generalization,
application, recapitulation

(3) introduction, presentation,
comparison, generalization,
application, recapitulation

(4) introduction, presentation,
generalization, application,
comparison, recapitulation

rond dgrsod®s Iegsto sasrbEt

oDy Fvre SO (o

(1) Soocive, Telo SUDE, wixalo,
s, Irocistene, PIHUe

undertaki
constructi or thought and
eventndtes into subjective results.
] ition was given by ......... :

( r

ard

) Thomas and Lang

(4) Stevenson
o5 5aleso ( Datisgh $0Tren) S
Dergd oo JisED JonerBy A
St Bor e6s b (B¥oys - el

(1) 256
(3) ool sobais oeh

(2) »od
(4) 280

[33]
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169. The points which influence the

reliability of a question paper

(1) objectivity in awarding marks,
allottment of marks, length of
the test

(2) length of the test, objectivity in
awarding marks, clarity in
instructions of the question
paper

(3) allottment of more
allottment of limited “tamie,

objective questions &
(4) essay type questy ttment
of less maﬂ:s.é@’::m test

Seso

(4) ogd TS (Sheo, SIS WD
Beroe), IES 04D

170. Through which teaching aid the

pupil is able to visualize and hear
at a time and promotes learning
experiences, it is said to be audio-
visual aid.

(1) Carter A. Good

(2) Wilham S. Burton

(3) Westway

(4) J.d. Thomson

D Shsmieo o i, 203AD Deed’

EIDFNOD, IO ePSHTIe T
Dodrolod BIDr, T OGS

Ghfismiese sowrans; e MEUOT RS ...

(1) sEA. 6 (2) HBatio 5. w50
(3) 3B (4) B 8. gy
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PART-V (b)
MATHEMATICS
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171. Scale on y axis of a bar graph
representing dropouts in a school is
3cm =2 members. If in a particular
year there are 17 dropouts then
length of the baris...........

3 DrTvo ol (W e, o 108oucnd
T 803 Spropind® Heo y o
3 Be.no. = 2 Dorgdiven. LY Syt &
17 5508 |75 ey B Kofodowé®
(1) 11.3¢cm

(2) 8.5cm

(3) 25.5em

(4) 35¢em

172. In a pie diagram with 4 sectors

whnse areas are in the ratl
:2:4:8, the angleufs

SECtOr iS ... &w

www
1:2:4:8
Sheaas

(1) 18° 9

(2 ®

25°

&1 0.16+03+06+0.83 is............
0.16+0.3+0.6+0.83 D655 wereeee.
(1) 1

(2) 2

(3) 3

(4) 4

WS-28TET cum TRT-411-EM/TM

174. The decimal form of an equivalent

T
fraction of 25 whose denominator

= X
L e R
4

SR — aﬁiﬁﬁmm

s, B LB ..

(1) 0.28 o

@) 027 4
{3J 0. ze&

8 bags of rice is Rs. 21,600,
n cost of 12 bags of rice 1s ......

175.

18 Datide 33w Do 8 21,600 saxss 12
Do 1320 DO eeenenne. .

(1) 14,400

(2) 7,300

(3) 11,200

(4) 16,400

176. If the price of sugar increased by
10% from the previous month, then
the percentage of reducing the
consumption in order to maintain

the same expenditureis ............

300 Doyl STy (BR06 Beltyte
Soucptites 10% e ecadud. piind’
Sy Bolinetd DIAMTES' Biew &b

(1) 9 (2) 11

(4) 102

1
@ 93 11

[34]




177. Area of triangle = rs unit®, where
ris in radius and 5 = semiperimeter
oftriangleis............

(1) true for all

(2) false

(3) only for isosceles tnangles is true
(4) only for scalene triangles is true

Bghe DTOE = s DI PR Relo § =

Ot 0w 5p6 8t icin r = eold

DO TR R0

(1) e @fbered st

(2) ensisgans

(3) BBy (GfoESe SPAGBW
ST

(4) Do i (@doesok SO
By @

178. If reflection of a puint»u;-\ 18

iiiiiiiiiii

(=3, 4), then th

(-3, 4) &

~4)
(-'3: _‘“
4) (-3, 4)

&

WS-28/TET cum TRT-411-EM/TM
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179. Only 1 is the line of symetry for .....
(1) circle
(2) semicircle

(3) scalene triangle

(4) square

180. in the shape of a
side is 12.6 cm. If the

ire is bent as a semicircle,

12.6 200, ghasum o Stoben ¥
Sitas DeD. Soter TN B0 TH Y

(1) 98cm
(2) 9.08em
(3) 9.8cm
(4) 9.81cm

181. The biggest five digit perfect square

(1) 99654
(2) 99856
(3) 99175
(4) 99955

Turn Over
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182. Acartravels Esaékmin dg hours. | 184. Sensorial aids are categorized
under.......... :

The same travels 256% km in 3-'; (1) tactile and auditory

(2) auditory only

hours. The average speed of the car
7 J—— - (3) olfactory
(4) tactile, olfactory and audi

r.gmq,g mﬁ‘z&a% 35, srcan

Scirrions. e T 3% m:us‘z5ﬁ.12.
3 D, Sortiion Solirrdedioe oD S St
(1) Bﬂ% kmph

istitution which determines

@ 77~ kmph
4 quality benchmarks for
(3) 69 kmph '

accreditionis....
(4) 138 kmph Ir\ L5 B ok, QARG Korseis 8405
=

(1) NCERT

METHO
(2) NAAC
183. Pedagog science and art 3 UGC
t’ (4) SCERT

Instruction

& (4) doing
SR 550 R0 LY TR0 Hoddlis K ...

(1) eorss P
(2) &%

(3) Seome

(4) Scosevoes
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PART-V (c)
PHYSICAL SCIENCE ROUELEY 9

186. On heating the following matenals | 189, During refraction light follows the

maximum thermal expansion equation............. :where n, and n, are
OCCUPS Y oo : refractive indices of the first and
(1) iron rod (2) mercury second i
(3) diesel (4) CO,

Tod HfaEtn o SdaD SNy
>80c38 ... Sdod damnis .
(1) gaSsotzay  (2) Smsissaw (1) n, Sinr =n, Sini o
(3) b (4) CO, c

187. The Halley's comet appeared in @ 3"1 t S"‘ r Q

1986. It will appear againin .......... (3) n, Sini G

1986 &* IrbEhnany, Bedsd. e O0A

1INED SCELRID werensones (4) i:b Sini

(1) 2042 (2) 2056 of a person is 50 kgs. He
(3) 2060 (4) 2062

5 up and down in standing

188. The direction of magnetic

jump. The force exerted on the
field due to the current

ground will be.......
(1) equal to his weight

carrying conductor AB,
shown in figure.
(1) Circular and

(2) Straightli nticlockwise (3) more than his weight

ise (2) less than his weight

(3) Circul ] (4) equal to his mass
4 S he line and clockwise
50 L7, oy Sxd B3 2080 0L
Sl b 2
!; . SR AR ; £33 seasssssses
A ki oL O A (1) e EPOvDd SEmEsa

(2) oBd prolsTm BN

(3) &8 grtotTn
(2) Totiowsos B0 LSS (4) B0 o S

(3) Sporomtinn Soloi il
(4) Ehamiomses moOao iSO
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191. The characteristic feature of a
substance to become a permanent
magnet is ...........

(1) high conductivity
(2) high Retentivity
(3) high Resistivity
(4) high temperature

TEE5 ST, 00, BARLTIAL SOTe
(1) efsonss

(2) efs0DoBS

(3) eRx G0

(4) 0% &
192. Human ear can hear two sounds
separately if the minimum time

interval(T) between the twq,s0

\)

)

1
(4) T'—"E seconds

WS-28/TET cum TRT-411-EM/TM
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193. The two chemical substances which
are used in the experiment for law

of multiple proportions.

(1) Cuprous Oxide and Cupric
Oxide

(2) Silver Chloride and Bariu
Sulphate &

(3) Sulphur and Sodium

a&ric

(4) Sodium Chloride
Oxide

i 2l

GSalm

(1)

=ty
e,

EEMMPPY.

kS SE Sobats B0 58S

Senb SoBctis Maako

(4) Feawo 508 wocin IS 38

194. Ammonia reacts with excess of
chlorine to form an explosive

compound 'X". The compound 'X’

T .

CARIR QY $05rreé’ Ko 505 &
BTl X' @mmm
(1) NHCI

(2) NCI,

(3) (NH),CO
(4) NHNO,

(38]



195. Example for "Heating produces
change 1n the composition of
substances”.

3& SaoEs B Bopnated® Sy Ded
STTeD G,

(1) 2Mg+0,—>2Mg0O

(2) ZnCO,—Zn0+CO,

(3) 2KNO, -2KNO, +0,

(4) All of these

196. Carbondioxide is used in fire

extinguishers, because ........

(1) carbondioxide is lighter than air.

(2) carbondioxide is heavier than
air

(3) Carbondioxide 1s lighter than
any other gas

(4) Carbondioxide is abundant in

) 5,
@) S, (4) S
198. The broad attempts in

understanding the nature are
(1) hypotheses

(2) inferences

(3) assumptions

(4) theories

199.

BOOKLET @

CHON esamir BuShioNi Seeingyod
(1) @seyes

(2) esslstoes

(3) &weo

(4) Eaa-ﬂntrm
"The rapid changes that too
in the usage of cell pho

inception'1s .........

(1) constructive

(2) researi\o

The marking scheme does not

consists the following aspect.

(1) Answer for each question

(2) Marks allotted for each item

(3) Content part of the question
taken

(4) Total marks allotted for each

guestion

Newd ARDE Motinsthoe s soic.

(1) SOEHD0 SSrgratD

(2) B3 o3 Lrty,eo Suranoitio
(3) 5% Srrolod wdis JSall PPiaw
(4) SOSHL Turcotnds Sty

WS-28/TET cum TRT-411-EM/TM
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